AVAMTIYY NEZLSIM HLINOS
. fdver uffers @y
. South Western Railway
EoIKER
.Hl,lbbal]i Division
(Feterady fasmm)
(Engineering Departinent)
ST S oy U Reler S i) RumT 7 SR Sl b ue & e & g v u
Appointment on Compassionate grounds for the post of J.E in Civit Engineering Department

(et TR -0 S 2019 14:00 9 17:00 &)
(Date & Time of examination : 14" June, 2019; 14:00 to [7:00hrs.,)

MFIH 37H/ Maximum Marks : 100 Fa4/Time : 3 He/hours.

walt weel T AR, TeArs U A ze qftaer 7 & o

Answer all questions in answer book supplied.
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Name ar any other identify ol the candidate should not be indicated either in the question paper or in the
answer paper except in the columus provided on the lly-leal ol the answer sheet.
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Candidates are not allowed to use Caleulalor.
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In the answers to the objective questions, ne correction of any type like Cutting; Overwriting; Frasing;

Scoring off a ticked answer in multiple choice & ticking another answer & modifying the answer in any
| way ele., is permitted. In case any corrections js made, that answer will not e evaluated at all.

Part A : 30 marks (Answer any threc)
T & : 30 3w (Fredl AT wmal & Ieax &)

L adeor vy & oAy & O

Write about Contours. in surveying. - 10 s=/marks]
2. w1 3 vd wige dae F e # fa?

Write about coarse aggregate and fine aggregate. . [10 sim/marks]
3.0 Gyed BI53Us U R WSS & g A fawd?

Write about combined foundation and isolated foundation. [10 sis/marks]
4, WIS dhe 9T ey Reuel fod

Write short note on Pre-stressed concrete , - [10 s=w/marks]
5. e g efedwe & e A A

Write about super elevation in Railway. . [10 siw/marks]
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Part B : (Each carry one mark; 30 Marks)
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The identification provi ided in a face of the bricic is called -
a) W Frog b) ¥ Pallet ¢) ¥ Strike d) 3397 ¥ =15 =%} None of the above

Fratteiar & g7y 3E5%Y & The major purpose of seasoning is -
a) @A & T ufdEl & & (3T To make the timber fire resistant.
h) UFET HWd Ul ARGl ¥ 7 & g F AT

' To remove the moisture from the timber at uniform rate.

o) WEer # S &= & [T To make the timber water proof.

d) 38 & FE g None of the above

FEEIoT o Raud et 9 s aRar

The fundamental principle of surveying is to work from the

(2) FUT 80T 9T whole to the part (b) FqUT T & HIfF part to the whole

(c) forad & & 3T ¥X & lower Jevel to higher level

(d) 3T TR F faaer TAC % higher level to lower level.
RIES GRS I T2) B1 The poison’s ratio is the ratio of -

a) =R TR ¥ Sedel UIdRE Lateral clongation to linear elong.,at]on

by ehferd B0 O S w3 Lateral stress to linear stress,

¢) ificyiEea ¥ O ofede ¥ Lateral strain to longitudinal strain

dy RIS & Agger @ 4o Aggel - Young's modulus to modulus of rigidity.

FE F AT H UF olgeT I HEGUFAT-A check line in a chain surveying

(2) Srererdl & uRteeErdr 1 ST checks the accuracy of the framework

(b AERTOTehel SANT Al Far &l ¢igal =l il 19ator #1 A1 &Gt F fAV)) enables
the surveyor to locate the interior details which are far away from the main chain lines.
() wolr izt T sttt fgd & & Tonw fixes up the directions of all other lines.
(d) 3% @elr all of the above.
mﬁgﬁﬁzﬁﬁwsﬁﬂwmﬁwwwmﬂm%n

Initial settling time for Portland cement is minimum -

-a) 35 fHae minutes b)Y 45 s minutes ,
¢) 30 fA=TC minules. d) S48 ¥ ®E 77E None of the above
R=ror - i< R ITTETOT F AN U gl Al va f&ere & Sraa g § The

_isan example of obstacle in which chaining and vision are both obsiructed |
(a) glex 74T water body (b) W building

(c) &7 dlex a8 @ 9T both water body and building

(d) @fex &iEr o &1 & & AR neither water body nor building

L TH gk A, L a:maarﬁa:ﬁvwéﬁrémaﬁrm%

- Ina curve, super elevation is provided to take care of —

a) dcmes ®E Centfipetal force b) §Ear WIH Centrifugal force
o) Ff3ir wder Crashing strenpth  d) 37097 & 1 718 None of the above

. forfaay ggufd - ) i & T anaeEE ¥ Le-chatelier method is used to

determine

(a) Tdie & oRf@e AR initial setting of cement

.l\)
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(b) Ta#e & wiza¥  fineness of cement

- () T8eTT 71 HETaTsoundness of cement

10.

1.

12.

14.
- Angle of 150 mm. x 150 mm. x 16 mm relates to -

15.

17.

18.

19.

(d) T3 # =T W normal consistency of cement
SIS T W HEE IS 9T gl 3 & 7 arealdw o &)

............... on the drawing relates between distanee on drawing and actual distance in

a) ¥hol Scale b)Tga Table c) RIS Specification d) #lz Notes

e & W1 BT g & T e Aar 1T ¥1 The Rail gauge is the distance between -
(a) Wil & gy 7@ @ outer faces of Rails

(b) ¥t & AT zn'w W running faces of Rails

() el & AET T T FET 9T F sﬁﬁ centre to centre of les

(d) &T# & 15 none of these

e ferfigior o ghaur & T dew & @@or 4T asrar aar T

............... is an opcnmU constructed on the-ajignment of sewer to facilitate
inspection.

a) Ursaega Pipeline b) STBE??EOLMC‘[ c) ﬁ?l"’lﬂ Maghole  d) 3d4E Inlet

X Qe & 9 fewrveRit <= 517 he Rail section is designated by its

()% Tl oS total length (b)) FeT T total wcrg:ht
(c) I FUTAH &1 cross- sectional area -

(d)ywfer fATT 1S @7 dar weight per meter length
150f7 T X 150f&f3E X 16f3% @ & g -

a) TCFUIA EEIer Structural steel b) PgAmERTT Relnfmcement
¢) TN IFEFAT Coarse aggregate d) wIga 3T Fine aggregate
T T TS T FEWIHRI < 21 The deformation per unit length is

(a) 28T TLU tensile stress (b) PIFTHT TH compressive stress
(¢) T & shear stress (d) =7 strain

. Indian Railway Institute of Civil Engineering is situated at

HRATE TR sl Yo dryd g § .
(2) BedliDelhi (b) EoUraTgHyderabad (c) YdlPune (d) S9cEBangalore

Etfective depth is the distance from the top of the beam to the ~ofthe
tensile reinforcement in a simply supported beam.

amﬁsﬂmﬂwwm@ﬂ%%vaawmﬁqﬁ
417 & 3L AT §

(a) Centre FET  (b) Top FI (c) Bottom e (d) End of beam €17 % 31T &
Limit State Mehod is used for designing

HFwew & AT gal v qonsl 1 oA ST T

(a) Barth work #f&eTe &1 (b) Structures == (c) Water supply @il #I Foelis (d)
Sewerage system. FLaT JoTTell :

Sewerage Treatment Plant is used to treat TR fgesie IaT & ITART BT 8-

SOUTHWERTE LAY



(a) Waste water g% 91T (bj Pure water ¥8e raT (¢) Soil e (d) Concrete. STHE
20, & & 26 8 W g5 H T e Zra &1 A beam supported at both ends is
(a) MU 9T @/F simply supported beam  (b) o1 &1 fixed beam
(¢} 30T §783T @37 overhanging beam (d) HTIE 1 cantilever beam
21, HRIFET 7 & 7R S 9 ST wAh gren ¥
Bending moment at the free end ol a cantilever beam is
(a) FF zero (b) oA minimum  (¢) RFIA maximum
(d) 7= vd HeRaE & @ between minimum and maximum
22, difshe ufiomH H WFHSUT g1aT ¥ Segregation in conerete results in
(a) ®3IL Hifshe Hard conerete i
(b) fgmeaT B wifhe Reinforced cement concrete
(¢) &= &IfFEeT honey combing
(d) 7797 & F% 78 none of these
23, gremer il #ifsee Fal 8m §1 Plain cement concrete is strong in taking
(a) tensile stress &f@er TH (b) compressive stress HFEIRTT T '
(c) shear stress 2R ¥H (d) all of these. FWT ¥ HIZ FET
24 Taer R &9 & &7 (Ewidde 3uaesr gar 8
‘In singly reinforced beams, steet reinforcement is provided in
(a) ET8& ST tensile zone (b) HFEITHT S compressive zone
(¢) BT Effe vd FEE S both tensile and compressive zones
(¢) deesr ST neutral zone
25, o H SETE YOTell &7 oo & W F ST FEr g
The earth’s water circulatory system is known as
() ATeY HIShd water cycie (b) g grgshe 1yd10 ogical cycle
(c) SfafesT Tgee piecipitation eycle  (d) 578 & TS =T all of these
26, HINAT &1 Foew ¥ - ROB stands for
(a) gel WX STEAT Road On Bridge (b) Yeer 9e Road Over Bridge
(0 E\’!?i‘r ® § TBotha&b (d) g3 T F et None of these
27.$eraawr@ﬁé:‘r%mﬂ§am#ﬁq@ﬁﬁmmm%1
Sand replacement method is used to test the strength of
(a) #ishe Concrete (b) AT Barth (c) T Steel (d $) Brick
28, UHAHET W T g F IUNE-FOB with steps is used to carry
(a) @ ufgT Two wheelers, (b) @17 9fgT Four wheelers (¢) 20aa! & 3T Persons (d)
Feenfznt & T Bullock carts _
29. droadr gor H qrewdy A In “PSC Bridge”, PSC Stands for
(a) ®Neh Far HEEr Public Service Commission
(b) ¥r ¥ZHg =wifehe Pre Stressed Coner ote
(c) St T&Fs 9T Pre Stressed Cement
{d) YT ¥¢FT FaiT Pre Stressed Cooler



AVMTIPY NYZLSIM HLNOS

30, X UY FH - o ————WWWQTTWWW%’I
Super elevation is provided in track on
(a) T @9y Straight track (b) % W@92 Curved track
(c) &= T Ud @ Y9 Both on Straight and Curved Track
(d) &Il TeT U g YT STel Neither on Straight and Curved Track

HIT 9T (40 3T B)
Part C : (40 marks)

a) AN H v v Wewtaf@e asaf & ol srd el |(vedw we & T vw 3w 5
) , '
In the following, choose the word opposite in meaning to the given word (Fach
, question carries one mark : 5 marks) :
1. Atfirmative
{a) Negative (b) Positive (¢) Confirm () Correct
2. Transparent
a) Clear b) Opaque c) Visible d) None
3. Easy
(a) Problem (b) Difficult (¢} Hard (d) Nice .
4. Alike ' '
(a) Different (b) Same (e) Equal (d} At par .
5. Safe
(a) Danger (b) Protective {¢) Safe custody (d} Settled

b)) PEfafEe A et # dgor T 3 | (Aw v F AT ww i 53
In the following, choose the word which best expn ess same me'mmg (Lach
question carries one mark : 5 marks) :

1. Bilateral
a) Two sides b) Three sides ¢) Confidential d) Open
2. Redundant
() Not required (b) Required (¢) Needed (d) Light
3. Removable

" (a) Detachable b) Give ¢) Offer d) Walk
4. Lenient
(a) Harsh (b) Mild (c) Su]ct (d) Unforgiving
5. Meeting '

(a) Assembly (b) Apart (c) Leaving (d) Dispense

¢) 3faa ereg & we S U REd T 0y (wdw & e ow o) ¢ 5 aw)
Fill in the blanks with preposition (Each blank carries one mark) : 5 marks) :
1. Convergence .... all the routes occurred . ... this point.
a) of; at b) ﬂom, on ¢} with, on d) at, on

2. Treceived this message ............. 7 O'cloek........... the morning.
a) in,at  b)at,at cyat,in  d)in,in

3 The farmer wakes up ___ sunrise
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(a)y at (b) on (¢) of (d) in

d) %mﬁ‘rﬁ?ﬁﬁﬁaﬁyﬁmmmyﬁmﬁﬁaﬁwmm (:rawasfﬁmtra?

,._u

[

]

S
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From the following questions, choose the response which gwes the correct
meaning (Faeh carries one mark : 5 marks) :
. Lions share
(a) No share at all (b) Greater share of a thing (¢) Miserly (d) Very small item
. By hook or by crook
(a) By any means, 1a|1 or fou! () In an henest man: ner (c) By good means (d) By legal
means

. From piller to post

(a) Not moving (b) Talking to all (¢) From place to place (d) To stand at one place

. Atthe eleventh hour

(a) At 11 O clock (b) At the fast moment (¢) At the begirining (d) At the end.

. Fish out of water

(a) In good position (b) In an unfamiliar position (¢) In bt,ﬂ.el position {d) In familiar

position.

o) FrarAREE & 3w O (v & v 1 3+ 20 %)

1.

3.

4, AZH § T FATAT AT & Mothers’ Day was celebrated on

Answer the following (Each carries one mark : 20 marks) :

UETUHLH, & ELUﬁ' F4.... SAARC stands for
a) gietor 3AfET 8 Heaer |y
South America Association for Regional Co-cperation,
b) GIETOT 3R eTATy TEATT wE
South Africa Association for Regional Co-operation
¢) airor ufdrs eTdy mEier 59
South Asian Association for Regional Co-operation,
d) z=9H & &% 76 None of the above.
ST 3 TUANRT SRAT FEl & Where is ‘Dudhsagar Waterfall® in India?
a) aar R Fafica v @A 9T At border of Goa and Karnataka
b) #=es in Karnataka
¢y Ia0d in Gujraat
d) TSEHET in Rajasthan
AT Retd d& 1 Fearag
headquartered at..

a) P Kol(dta b) 7% faeell New Delhi ¢) 578 Mumbai d) 918 (‘henna1

......... F fBua & Reserve Bank of Tndia is

a) 12" &3 January, 2019
by 12® ?Fﬂ_ti March, 2019

¢) 12 #% May, 2019

dy 12" emg July, 2019
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i 5. TRATY e SE o L & Fediel #F qEUEN faed FT Siar
Indian Cricket Team won warld cup for second time under the captaincy of .......
a) TA.TH. €= M.S. Dhoni b) i@ el Saurav Ganguly

o) ¥ dgera Sachin Tendulkar d) fave &igel Virat Kohlj
6. el & USAETAT 47 82 What is the capital of China?
' a) ST Beijing  b) RIAF Seoul ¢) A% Shanghai d) EHE;F{ Kabul
7. 3996 I8l FS FEl fFUa §iSatel ie lanching station is located at
(a) WISTYL Solapur (b) #refyerer Sriharikota () eH Salem  (d) g{erd Warangal
8. FeT €asT # HAdA@W ¥l The BLACK FLAG significs |
(2) @ Danger (b) e Peace (¢) Tade Protest (d) AFIF@T Support
9. WwrE 79 e Qo & fAv @lar §ITHOMAS CUP s associated with

(a) foease Billiards (b) éﬁﬁﬁl?f Badminton
(c) @il efer Lawn Tennis (d) ¢aet efAE Table Tennis

10. @/F W WeTT H FRHA Thdar BT B
The members of Lok Sabha hold Office for a term of!
(a) X @¥ Four years  (b) 979 aW Five years

(c) & a¥ Six years (d) &7 &Y Seven years
11, FAehell 3eh e [T 230 &7 &1 Kethakali is a folk dance prevalent in
(a) 31T yeer Andhara Pradesh (b) TrerameT Telangana
(c) &<l  Kerala: (d) Hﬁﬂﬂ'@’ Tami! Nadu
12, WIE YEY T H e @ AT Sl B is known as IRON
' MAN QF INDIA -

(2) BRER Goeddd S ueer Sardar Vallabhbhai Patel
(bydfsd @gx  Pandit Nehru (c) 3ieel R8H araidy Atal Bihari Vajpayee
(d) 7T Frel T Gyani Zail Singh '
13. Average of 10; 20; 30; 40 is &l 3iadet
(a)25 (b)40 ()50 (d) 60 . |
4. 1077 & OR & T G B &FFT_ ©

Arca of Square of 10m side is __ _ Square meters,
(a) 100 (b) 110 (c) 120 (d) 130
15. LCM of 20; 30, 40 is 2 UHEITH

(2) 100 (b) 110 (c) 120 (d) 130

16. Pandit Bhimsen Joshi associated with 4T THa@s el a7 daer &
(a) Dance 33 (b) Politics USATS (c) Music el |
(d) Social work TTETGE &1 |

7. ___is viscous product resulting from refining sugarcane into sugar

Ty h REERT Y Rw 3EE ad b

() Lactose ST (b) Glucose o[ (¢) Fructose SFETH (d) Molasses HToEH
8. . & ArsTREe T8 ¥ Taj Mahal is located in

SOUTH WESTERN RAILWAY



(a) Canada &oT31 (b) Australia HFETET (¢) England 31018 (d) India &
9. First passengertrain in India ran between Bombayto on 16™ April, 1853,

16 31dfer 1853 &1 R # Ugel T4 T Hag F _ & o g 4

(2) Pune qOT (b) Thane Tl (c) Hyderabad #EreTg (d) Delhi fewell

20, A line on a map joining points of equal height above or below sea level is called
[HE F OGN W FAs A7 ferwel T T S gl AT A @ #
. ST &
{a) Contour eh=ci¥ (b) lsobar §?ﬂiﬂ:{ (c) Isotherm aﬁ?ﬂff {d) Isohvets Wm



